$#5 FE BRAMRPFRFABETXEY 2 bTF = RAXEER (BIHFBEDEE) cnsx08208 ) #: BNRK—vIS5v>ECBLE

(BFFEY—T]

Aoy | 1| 2| 3|8 | Bt cavysy |1 | 2|3 |B|E
1. BBAAR ©) 2 |1 1.2 B @112
2.8 E|o 1103 2. F I | O 1]101|38
SE M IE|1|© 1|2 S.ERMEH | @ | 2 |1
B7Aawys | 1|2 |3 | 4|6y Ek D7Oays | 1| 2| 3 |Bi|E
1.= B @122 182 B @21
2. BAREEF ®@|o]1]|3 2. K H & @12
3. % |0 | O o|lo |4 3.8 #1101 0|3

48 E|Q|®|0® 3|1

[REE b—F A2 K]
BFEH = E B
@ | 1
0
1 0 1 0
BAhR 2 B KHE = B EBRAEFH 2R = B B
I 431 3R 7€ B
BAPR |
|
BAPR 2
[ BB F=§&5R 1 @Dt =5 =13 S A
S H = S =
[ ZzFF= R ] A EF 11757 =¥ - -1
r— %

[(ZFFE)—T]

AJawvd | 1| 2| 3 |Bi|Ex cavs |1 |2 |3 | 4|88k
[ - B @D @] 2]1 1.= =2 ©) ®@|l2]2
2.FWER | O 11013 2.2 o oO|1]0/| 4
3. E B [ 11® 112 3341t | @0 ®| 3|1
A KRBR|O|@]|O 1|3
B7Owvs |1 | 2|3 | 4|8y E D7Aavs | 1| 2|3 4 |8|Ek
.8E8 = @|@| 3|1 .8 A @] 3|1
2. H b3 @113 2.EHRR | O 11®@]1] 3
.EEAEE | 0| 1 110 4 3.8 0|® @l 2] 2
A BIW/EEF |0 O @ 2|2 A2 4 o 1] 1 0| 4

[REEb—F A2 F])

ZTER B I§ th

@ |
1 0
0 1 1 0
B OIS = B #H E E £Ai E B mEHREH E A
JIE 452 7R 7€ B
= E
I 1
= K IER

3 OABZAHRIR O&| 6 Hb
= & s OFRIABZHEF
I OOF L N EC ) =y

S ARZAEF OSSR E S== HE 4t




